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Agricultural Zoology (Paper-VIII)
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(Only for Agriculture Part-II)
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Note: () Thereareinall 17 questions in this paper. All questions are compulsory.

(@) Question No. 1 is multiple choice type. Question No. 2 to 6 are definite answer type which are to
be answered in one sentence each. Question No. 7to 11 are of very short answer type which are
to be answered in about 50 words each. Question No. 12 to 14 are short answer type which are
to be answered inabout 1350 words each. Question No. 1510 17 are long answer type which are
to be answered in about 300 words each,

() Marks allotted to each question are indicated against it.
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(Multiple Choice Type Questions)
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(1) FhAfhoed favgm § RE # W A 8- ]
() 44 () 45
(i) 46 (v) 47

(@) e ¥ Ruared & o & — 1
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(&) oiew &1 Wifad mr 8 - 1
(i) =D (i) Saea (iii) PR (iv) SI0TF0T0

Four options are given in each part of the question. Write the correct option in your answer book —

(A) Locomoterorganelles in Paramoecium is—

() Flagella (i) Cilia
() Pseudopodia (iv) Feet
(B) Meiosis cell division occurs in—
() Somaticcell (i) Generative cell
(iii) Sensory cell (iv) None of these

(C) The number of chromosomes in Cleinfilter’s syndrome is -

n 44 (i) 45
(i) 46 @iv) 47

(D) Function of typhlosole in Earthworm is -
(i) Digestion of food (i) + Increase the absorption area
(i) Circulation (iv) Assimilationof food

(E) Physical basis of life is—
(i) Nucleus (i) Protoplasm
(i) Cell (iv) DNA

ffRag oo v
(Definite Answer Type Questions)
2. By PR O suRefy fFa qu & qeor @ 7 1

Presence of choanocytes is the character of which phylum ?

3. W PIRGIT & AW qagy o o ofteei § e 8 e ueu SRRl § T8

fyear| 1
Name the cell organelle which is found in animal cells but not in plant cells.

4 2 AuASTe Uil @ AW qaEy | ' 1
Name two scavanging birds.
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10.

11.

12.

14.
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AW B T B P
Whatiis the function of placenta ?

foreaee & R ¥ B W g wer € 7
Which enzyme is found in saliva of Cockroach ?

fa oy S98a ueA
(Very Short Answer Type Questions)

gleifdgs ofima @1 & °?

What are holandric genes ?

TR F 7

What is homeostasis ?

fFreqae 3R SToarH # g7 IR W DHIfNT |

Clarify two differences between inspiration and expiration.

SI0TF0T0 AT AROTHOVO & qR 711 farfRay |
Abbreviate DNA and RNA,

Y IS @ IR g @ falad |
Write four main characteristics of phylum Nematoda.

Y STNE W
(Short Answer Type Questions)

G & AP B AHIGA T TRy |
Draw diagrammatic sketch of liver of Rabbit.

de @ anfefes weaa &1 guie AT

Describe the economic importance of Termite.

Frer & 5t <1 wr wifara feoft forfag —
ORISEIEIS) (ii) IFTHE (iii) FgRT
Write short notes on any two of the following —
(1) Golgi body (i) Adaptation
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(iii) Compound Eye

2

2+2=4
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farega s fta wea
(Long Answer Type Questions)

15. S BB B FRe=T BT AAF a7 B | ¢

16.

17.

Describe the structure of animal cell with the help of diagram,
HAAGT (OR)

mﬁmmmﬁmm?mmd?ﬁmﬁmﬁaﬁﬁ
g7

Describe in brief the structure of Amoeba. How excretion occurs in it.

mﬁﬁ%%ﬁﬁﬁwwmml (@9 @Y smaTaee T 2)3+3=¢
@) YHRE D HIEr TR

@ YYD G & F 1 T s B

(i) fAoree & amER T

Draw neat and labelled diagram of any twe of the fol lowing. (Description not required)

(1)  Female reproductive system of Ascaris

@) TS.Earthworm through Gizzard

@) Alimentary Canal of Cockroach

T HT R ? v Bhar § o, @en co, ® aRas vk 4 frw woR g 2 2 6

What is respiration ? How does transport of O, and CO, occurs in blood in the process of respiration ?
AT (OR)

%ﬂﬂmw#mwmﬁ?mﬁmﬁmﬁmﬁﬁﬁﬁﬁ%ﬂww&
i fafay | &7 | Rt va Y FumfY wwemed |

What do you understand by sex-linked characters ? Write name of any two sex-linked characters found in
man. Explain the inheritance of any one of them.

Tk kkk
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